EARAROBEEIERT — 2 N— IBISH —F

2013%3A308 (£) 3EIFI3H

mgg%frggu 1000FTF ¥5R4mt CBED) [BE] &8 BT
[A&E4£] 1 7 14,400,000 § 2 7% :5,800,000 § 3 7% :3,600,000 4 3% :2,200,000 3 5 & :1,440,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- N 2 5| HHEE 2:31.4 11-10-11-9 | 34.7 | 100.7 | 4 454 | BRIERAZ ()
1 3| T =Y “ 10 o © | 08 HBEL-2A-2
R:xA1ZG7—R2 B4 —>Vxy b HET77—»4L
= # o6 | ALHESF 2:31.6 8-8-6-5 |35.3| 98.9 | 2 534 | H#EAE (55iA)
0 2 T—RARAT vy 7T 57.0 (1 1/4) (-6) HHEME
R:Za—A>95>F B:H L NFHILTx &* s
o N HIDEE : ~5-6- EEEZ (5R)
N BEPERA=P% # o8 | B2 (15 S A Rt Il I B0 ot
LZFAT—IVE Ba-7F1477> EK H—
. o s HPBE : -10-8- REREX (ER)
alglio| 7 K= A X7 5 2 (21.311/.5 10-10-8-8 | 35.4 | 96.9 | 3 (4:323) S
L:t>r/nJAqd4 B:LIYzPRRLAL J =Y Ty —L
o4 | REEE 2:32.1 5-5-5-3 | 36.0 | 94.2 | 1 454 | BERZEER (3ER)
5\7|10| #F7E7 56.0 @ o) |EFEAK_LF (TR @)
L:F=TANNT N B4 —-hT7 IR EEY -]
N EAv]N : -1-1- 4 &
6l5lg|x—t>oL—t [B] # 5 5#%5(3) N (21.332/.;1) 1-1-1-1 | 37.4| 923 | 5 (5_120) i‘;g% (&E=R)
X THANAN B:drLl— R B AR
> 44 | BEEXH 2:32.4 4-4-3-3 | 36.5| 91.5 | 8 472 | AL (GE)
ZHQ vr1FAvE R 8.0 (7€) o | @ $5TLy k575747
LAFAd—I K B:214F%xv1> IEE Rk
LS TS 4 | FBEKX 2:32.8 12-12-11-9 | 36.0 | 87.1 | 7 452 | BET (EH)
glgl13|V>7x77 54.0 21/2) () |EEBE
RN—YU54 F:a-T7r3I— J =% Ty — I
Son g R > NN :33. ~7-8- . . RGBT (ERH
9 4| vrFUO—L2 > 8 2 (21333/41) 7-7-8-9 | 36.7 | 84.8 | 10 (4+924) Bl
RV KYTYRIZR B ITS T UL e ]
> N it 6 | REMEX 2:33.5 13-13-13-12| 36.6 | 80.7 | 13 | 466 | SWERI (E#&)
10|11 | ¥ TFNFEYY 5.0 21/2) o | B 55Ty k9575747
RO—Y XA x4 B:AHh/REH EvilLy RTp—L
NPT 44 | REES 2:33.8 2-2-2-2 | 38.5| 80.7 | 6 482 | BEERE— (ER)
1|5|7 |/ N=¥A 56.0 R (e |MEEM
gL FS LML B TOTIY—F4Y 799577 — I
Sy fi55 4 g | EHEHME—ER 2:34.5 8-8-8-12 [ 38.0| 73.5 | 12 418 | HAlEE ()
1207111 RAZXHT A 57.0 (4) (4) | AFHEER
L:OM XIS B:YF MLRXS Y UNCTies]
NN HFHEA : -3-3- FHEX p::}
13 g | PHIHTULN 4 6 = 2.(335).0 3-3-3-5 [ 39.1] 71.1 | 11 (zgs) EE%-T— (&)
L:ErsaJo4 B:Od-NI-ZX—-> HBE77— L
@ 71 L
) 48.1-36.4
NaO>24 L | 7.3-11.1-11.6-12.2-12.2-12.6-12.1-12.3-11.9-11.7-11.8-12.3-12.3
® I —F—@EBIERL
13=7r= 6,7=8,9(5,10)4(2,11)12,3-13-1
20—+ — 6,7=8,9(5,10)4(2,11) (3,12)-13,1
S=57= 6-7-(8,9)10(5,2) (4,12,11) (3,13)1
43—F+— |6,7(9,10) (8,5,2)12(4,3,13) (1,11)
[ RN
B OB 3 1,140 714K 2-3 710M e & 2-3 2,810 &R 2-3-5 10,450
8 B 3 650 & 2,400/ B & 2=8) 2,220M 3B 3-2-5 67,800/
2 340H 2-5 1,370 B H 3-2 4,980
5 1,210M

ABICOVWTRDTEEERROODE. TR LIV,




